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AQA A2 Chemistry 

9 Synthesis, analysis and structure determination

1
(a)
A C=O stretch is present at 1710 cm−1 [1]; and the C–O stretch at 1200 cm−1 [1]; so an ester may be present


(b)
Mr = 60 [1]

(c)
m/z = 31 is [CH3O]+ [1]; m/z = 29 is [CHO]+ [1]

(d)
(i) Two [1]


(ii) At = 8.0 probably an aldehyde proton; at  = 3.7 an OCH3 group [1]

(e)
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 [1]; methyl methanoate [1]

(f)
Methyl methanoate has the aldehyde functional group [1]
2
(a)
Mr = 44 [1]; peak furthest right / mass of the molecular ion peak [1]

(b)
[CHO]+ [1]

(c)
 = 2.2 is a CH3 proton environment [1];  = 9.3 is an aldehyde proton [1]

(d)
An OH alcohol stretch is present at 3400 cm−1 [1]

(e)
[CH2OH]+ [1]

(f)
A hydroxynitrile forms which has an OH alcohol group (3400 cm−1) [1]
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